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25 23
Mz =0l OIS AHIA MB(2EH)
ol EEN 23U 29 (el:de)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OFA MI|UAHAAN =2 96,420 * 23| 193
OFA dI|etdz2te s 88,0008 * 12& 1,056
ORQIAHHIAAE XY 121,000& * 128 1,452
OFA A8AIE KX 22 100,000& = 12& 1,200
Ot HE HI+ H & 3,000
02 33294l 27,315 27,315 0
OF A 20,400
-MIIR3 1,400,000& = 12& 16,800
e = 300,000& « 12& 3,600
OFAN &2 Xl 110,000& * 12& 1,320
OFAN S| IEA =25
130,000& * AH 13 130
O&%J ¢ dHd X 95,6008 * 12& 1,148
OXS A 32,000& * 13 32
OXgEE = 1,750
=Rl 450,000& = 1CH 450
-E23l2 800,000& * 1CH 800
sy =Xt 500,000& * 1CH 500
ostgderg=2 220
EPNE=PNE 110,000& * 2CH 220
OZ2TAE DHIKHEH 2222
150,000& * 12& 1,800
Ot SA2 14,300& * 304 ~ 12& 515
202 4] 4,000 4,000 0
01 2LHOHI 4,000 4,000 0
Ogoge =X 4,000
206 TH 2 HI 3,800 3,800 0
01 24l 3,800 3,800 0
O=E3&3 22ZX4 s 1,200
Ogd9Esad| 2,600
301 dEtE A= 960 0 960
09 HAIAHI EA=S 960 0 960
OFXNA W SA0IHEZ2 &A Z4
8,000& * 20¥ * 63 960
2Z2AE 2 Y|SB (SEH) 60,564 50, 106 10,458
101 @121l 1,604 1,446 158
04 JI2ZtH22XNHEE =+ 1,604 1,446 158
O35 - 2013t &4 22 o8y
66,800 * 24! 1,604
201 et A | 48,960 48,660 300
02 3524t 48,960 48,660 300




SN 2Fo
Mz =0l OIS AHIA MB(2EH)
ol EEN 23U 29 (el:de)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OEIZEH KX 50,000& * 43| 200
ONES L UsS ®IIR3
2,300,000 = 12& 27,600
oo MHess=el=HEg &2l 4,400
-HIIR3 200,000& * 12& 2,400
- 2 H| 500,000& =* 4& 2,000
OogdXx 2el 1,260
M 23 80,000& = 12& 960
M S 300
OHER XN HI 1,000
O Xt&k= Xl dl 14,500
-AESI2 3,500,000& = 1CH 3,500
-S3= 7,000,000& * 1CH 7,000
-9 Es SXNXE 4,000,000& * 1CH 4,000
401 Al HI L £ 0HHI 10,000 0 10,000
01 A& HI 10,000 0 10,000
OFA SdI20or MEAEX 10,000
FOMHEHSH(2RA) 15,000 13,500 1,500
201 LEt2 A Y| 13,500 13,500 0
01 AP 22l Yl 11,500 11,500 0
OF0XXNAEHSHE 1,000
o3l +¢ 10,500
03 HAFS S HI 2,000 2,000 0
OFUNXN G2 IAS 2,000
301 dEtEAZ 1,500 0 1,500
09 HALAHIEA = 1,500 0 1,500
OFUXXAY XOHZ2AH By X 1,500
ZUBOEY NAKL(SHD) 871,470 370,000 501,470
DAEUE NYEINL(2FH) 871,470 370,000 501,470
APR FO=2AAS(2HDH) 800,000 370,000 430,000
401 Al HI 2L 2 0HHI 800,000 370,000 430,000
01 A& HI 800,000 367,355 432,645
OJlz DFS¢ot2 M 2I](A=1800m" ) 25,000
OJLOF HH2=2 Al (L=70m) 27,000
OJls =2 Z & (L=250m) 30,000
Oolat DfSet2 23 & (L=90m) 20,000
OY = DtsSotd AWM 2I[(A=2,000m") 30,000
Ool2 otsotd IAM 2] (A=800m" ) 10,000
Q%o Hi4=2 &l (L=250m) 25,000
OgH =2 ZZ(L=200m) 25,000




M 28H
B ZOIBOEN KA (2HD)
Cel: BEUE NS (ERD) CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
ORE s2Z & 2 =23l (L=200m) 30,000
OF 4 02t M 2] (A=2,300m ) 28,000
OF= 0tset2 M =2I|(A=1,700m") 20,000
OME s2Za 2 =23l (L=130m) 25,000
Osd =234l (L=150m) 18,000
OZE =22 & 2 =23l (L=130m) 24,000
O¢Xl s2Z & 2 Hi#=23Hl(L=100m) 25,000
OE GtEaES L ==2 M EZZ(L=1,000m) 15,000
Od2s s2X & 2 ti+==2F4I(150m) 23,000
O8ls =2 X & (L=250m) 30,000
OS8 0222 IAM 2T (A=2,300m) 30,000
O20t s2Z & 2 ti==Z3dl(L=150m) 25,000
OdE s2 2% & =2 FH| 22,000
OE =2 E & (L=250m) 30,000
OFE =2 & (L=150m) 23,000
ONE =2 I & (L=250m) 30,000
OA&3d ot&EEH (L=500m) 10,000
OHYE Ot M 2D (A=2,300m) 30,000
OMI= &t& &l (L=160m) 30,000
O9Xl MEasd 10,000
OE&E NEa&Esd 10,000
Odga NMa&ss 10,000
OARE A8 2=l 10,000
OJts 2HE X (B=2m) 20,000
OYE =2 E & (L=150m) 20,000
OdXl 02425 XY Z(L=100m) 20,000
OQHE AFH B 2= (L=70m 20,000
OX& Or2etd M| (A=1,400m" ) 20,000
AT HAHZS DAL (2FH) 71,470 0 71,470
401 A& BIZ 201 8] 71,470 0 71,470
01 A& HI 71,470 0 71,470
O&IE M& XHoll = (30m) 14,486
OM= =Zai =7 (70m) 13,897
S= Aot&E Mol = (40m) 24,192
O&H AotAETol = (140m) 18,895
HYSAHH(EEHYH) 176,292 200, 641 A 24,349
ol 2YHI(EHH) 111,702 132,055 A 20,353
oIAHI(E&EH) 111,702 132,055 A 20,353
101 @14 dl 111,702 132,055 220,353
03 RIHAZZ2HE =+ 111,702 101,569 10,133
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